123

25

640

493
530

290

ook wh

6x M10 x 20 mm

6x 320 x F10,5 x 2,0 mm

6x M10 nut

2x M10x 30/ M12 x 25 mm

2x 330 x @10,5 x 2,5 mm

2x D24 x 912,5 x 2,5 mm (nylon)

Title:

U - CONSOLE SET XR10-30 GA8610

Tek. N©:

GI_GA8610

file-name.:
GI_GA8610.a.dft

eeeeeeeeeeeeeeeee




